LLL;

M6x40 M6x30 M6x20 M6x10  M6X10

Swrx 4wt 48wt 4w 10 W
) wr
VI HCprKU'Vlﬂ no C60pKe KpOBaTVl * Mpu wupmHe 80, 90 He ncnonbayetca
**6 WT. Npu wWuprHe 80,90
Al ma Be”a *% 2 Wr. npy wupunHe 80, 90. 3 wt. npu wupuHe 120, 140

#*5% 8 WT. npyt wWnpuHe 80, 90. 9 wT. npw wupuHe 120, 140




6x30
4 wr. - npu wurpuHe 160 1 6onee

3 wrt. - npu wrpuHe 120, 140
2 wr. - npu wuprHe 80, 90

MnaHka 1 wr.
(150 cm.) - npu wrpuHe 160 1 6onee N
(120 cm.) - npy wypuHe 120, 140
(50 cm.) - npu wupwuHe 80, 90

CbemHbll yexon




